REACTION MECHANISMS

A Review

I. Nitrogen dioxide and carbon monoxide react to form nitrogen monoxide and carbon dioxide in a two step reaction mechanism.  Look at the steps below and determine the missing chemicals.

NO2   +  CO  (  NO  +  CO2

Step #1
NO2  +  NO2  (  NO  +  ___________


Step #2
NO3  +  _________  (  __________  +  CO2

Now, add up all the reactants and products, crossing out the intermediate products and catalysts:


__________________________________________________________________

Intermediate Products: __________________
Catalysts: _____________________
II. An organic compound reacts with the iodide ion to form ethane, bromide ions, and the I3- ion.  Intermediate products include C2H4Br- , IBr , and I2.  Fill in the missing chemical in the four step reaction mechanisms below.

C2H4Br2  +  3 I -  (  C2H4  +  2Br -  +  I3 -

Step #1
C2H4Br2  +  I -  (  ____________  +  IBr


Step #2
____________   (  C2H4  +  Br –

Step #3
IBr  +  ____________  (  ____________  +  I2

Step #4
I2  +  I -  (  ____________


Now, add up all the reactants and products, crossing out the intermediate products and catalysts:


__________________________________________________________________

Intermediate Products: ________________________________


Catalysts: __________________________________________

